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QUESTION 1

A company wants to implement HP Intelligent Resilient Framework (IRF) at the access layer. Which switches could they
use?

A. two HP 5500 HI Series switches

B. one HP 5412R zI2 Series switch and one HP 5800 Series switch
C. one HP 5800 Series switch and one HP 5500 Series switch

D. two HP 5406R zI2 Series switches

Correct Answer: A

QUESTION 2
Refer to the exhibit.
<Comware> display irf topology

Topology Info

IRF-Fortl IRF-FortZ
Switch Link neighbor Link neighbor Belong To
1 DOWN 3 UE 2 000f—-cbbi-1cB4
2 UE 1 UE 3 000f-cbhbbi-aled
+3 UE 2 DOWH 1 000f—-cbbi-1cB4

Examine the HP Comware switch output shown in the exhibit. Based on this output, what is a correct description of the
IRF topology with which this switch is associated?

A. This is a failed IRF daisy chain topology.
B. This is a functioning IRF chain topology.
C. This is a functioning IRF ring topology.
D. This is a failed IRF ring topology.

Correct Answer: C

QUESTION 3
What is a valid reason to choose an 802.11a wireless implementation?
A. It supports a large range (distance) from the AP at a given data speed

B. It has fewer available channels than 802.11b/g, enabling easier deployment
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C. It has transmission speed higher than 802.11n
D. It will not interface with an 802.11b/g installation.

Correct Answer: D

QUESTION 4

When configuring Multiple Spanning Tree Protocol (MSTP), how should VLANSs be separated to perform load
balancing?

A. placed into separate instances

B. configured with different priority values

C. never configured with more than one VLAN per instance
D. placed into separate regions

Correct Answer: A

QUESTION 5

Which HP device or port type can modify, read, and respond with frames that include 802.1Q VLAN tags?
A. Comwaretrunk ports

B. Comwareroute-mode ports

C. ProVisionloopback ports

D. ProVisionuntagged ports

Correct Answer: A
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